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int count;
intn;
1| Ele"proc o 0 o .
List "src_queue, "dest_gueue;

if (prio == MAXPRIQ) "maxprio=3"/

2 return’} [
SIC_queue = prio_queue[priol;
3| dest_queue =prio_queuelprio+1]; o o 0

count = src_queue-=mem_count;
if (count > 1) /* Bug™//* supposed : count=0% {
n = (int) (count™ratio + 1);

4 proc = find_nth(src_queue, n); o 0
if (proc) {
Src_queue = del_ele(src_queue, proc);
0 proc-=priority = prio; o ¢

dest_gueue = append_ele(dest_gueue, proc); }
Pass/Fail of Test Case Execution: |Pass | Pass |Pass| Fail
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Qe f +Qnf+Aep
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N (Cep+an N aef+aep)
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anf+aep

—1 anf >0

Anp QAnf = 0
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* Andrea Arcuri, Lionel C. Briand: A practical guide for
using statistical tests to assess randomized
algorithms in software engineering. ICSE 2011: 1-10
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MQAR 5 27 > FEER M ER
[ASE15] [ICSE17]

stackoverflow o ", a),‘ a =3
Lsplit(™ "), } $("#uni -
-.. o 2 J wuna _ , ta
Sta\:k O\rerﬂav.f isa .communih,- of 4.7 million programmers, just like you, helping each othe ““ wan ”‘y_ff‘om_str\ing(s( -‘ r .’
only takes a minute - ‘_’,_d‘,. € uso ihi .
‘IntentReceiver components are not allowed to register to receive inter " ‘:‘;’-ﬂ,‘,”‘ if (C (— 4 ;W:(al‘r.'-‘v“
®€), thi 7 >
- s.tri et

determine Battery level

e |

P4 keynote MOBILE TESTING RO START YOUR FREE TRIAL »

ying to get Battery info fram my Application following the guidelines at
http:fideveloper.android.comiftraining/monitoring-device-state/battery-
monitoring.html

¥ Thisistre method is came up with to chack the battery level

[ASE15] Qing Gao, Hansheng Zhang, Jie Wang, Yingfei Xiong, Lu Zhang, Hong Mei. Fixing Recurring Crash Bugs via

Analyzing Q&A Sites. ASE'15
[ICSE17] Yingfei Xiong, Jie Wang, Runfa Yan, Jiachen Zhang, Shi Han, Gang Huang, Lu Zhang. Precise Condition

Synthesis for Program Repair. ICSE'17
FEL R R 22 1390 ™ 1k [R) 2
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public void onReceive (final Context context, final Intent intent) {
final int action = intent.getExtras().getint(KEY_ACTION, -1);
final float bl = BatteryHelper.level(context);
LOG.1("AlarmReceiver invoked: action=%s bl=%s.”, action, bl);
switch (action) {

-
}

java.lang.RuntimeException: Unable to start receiver
com.vaguehope.onosendai.update.AlarmReceiver:
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java.lang. RuntimeException: Unable to start receiver : android.conter

Web Videos News Images More = Search tools

3 results (0.52 seconds)

android - "IntentReceiver components are not allowed to ...
stackoverflow.com/__/intentreceiver-components-are-not-allowed-to-regi._
Jul 24, 2014 - “IntentReceiver components are not allowed to register to receive ..
ACTION_BATTERY_CHANGED); Intent batteryStatus = ¢. ... RuntimeException:
Unable to start receiver ... Activity Thread. main{Activity Thread.java:4627) at java.
lang.reflect. ... NativeStart. main{Mative Methed) Caused by: android. content.

android - Battery changed broadcast receiver crashing app ...
stackoverflow.com/__/battery-changed-broadcast-receiver-crashing-app-... ~
Feb 27, 2013 - Battery changed broadc ast receiver crashing app on some phones. No
... PowerConnectionReceiver'> <intent-filter> <action android:name="android.intent
.action. ... RuntimeException: Unable tc start receiver com.doublep.wakey. ...
ReceiverCallNotAllowedException: IntentReceiver components are not ...

android - Want app to execute some code when phone is ...
stackoverflow.com/.../want-app-to-execute-some-code-when-phone-is-pl... -
Jun 29, 2012 - ACTION_BATTERY_CHANGED)); int plugged = intent. ... The code
errors out with: *FATAL EXCEPTION: main:: java.lang. RuntimeException: Unable to
start receiver com.example.CharainaOnReceiver: android.content. ... IntentReceiver

S stackoverflow

Stack Overflow is a community of 4.7 million programmers, just like you, helping each othe
anly takes a minute:

“IntentReceiver components are not allowed to register to receive inter
determine Battery level

P4 lkeynote MOBILE TESTING PRO  START YOUR FREE TRIAL »

| am trying to get Battery info fram my Application following the guidelines at
hitp:f'developer.android.comdtraining/manitaring-device-state/battery-
monitaring.htmil

This is the method is came up with to check the battery level:
public void sendBatteryInfoMessage(){

IntentFilter iFilter = new IntentFilter{Intent.ACTION_BATTERY_
Intent batteryStatus = c.registerReceiver(null, iFilter);
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y . Instead of:

4 context.registerReceiver({null, new IntentFilter(Intent.ACTION BATTERY CHANGED));

l LISe:

V context.getApplicationContext().registerReceiver(null, new IntentFilter(Intent.ACTION_BATTER
k

This Is annoying - registerReceiver() should be smarter than this - but it's the workaround for this
particular case.
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lcm = Math.abs(a+b);
+ if (lcm == Integer.MIN_Value) (BRI TR
+ throw new ArithmeticException();

- if (hours <= 24)
+ if (hours < 24) At 5E
withinOneDay=true;

- if (a>0)
+if (a >=0) - Sapuin
nat++;
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* ACS = Accurate Condition Synthesis

* B E AR

— RN

o EICEMEIA HARIEM, BRI EBECRT
7% if (5D) =>if (SD || $C)
o IXHE: if ($D) => if ($D && $C)

— R E RN

o (EHHEHE AT AL N 15 A
e if (SC) throw SE;
e if (SC) return SO;
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int Icm=Math. abs(
mulAndCheck(a/gdc(a,b),b));

+if (lem == Integer .MIN_VALUE) {

+ throw new ArithmeticException();

+}

return Icm;

Mk 1 Mt 2:
Input:a=1,b =50 Input: a = Integer.MIN_VALUE, b =1
Oracle: lcm =50 Oracle: Expected(ArithmeticException)
1A 25 A A] DAE e it i) 2544
lcm == Integer.MIN_VALUE * a>1
b= FEF
* lem =50
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* [cm = Math.abs(mulAndCheck(a/gdc(a, b), b))
*lcm>a,lcm>Db
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x @throws IllegalArgumentException if initial is not between
x min and max (even if it <em>is </em> a root)
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o fEAREE P AY FH B ERAE R Z AR ) B SO A R

AR -E- 2K F) Vectorv =...;

}Eiﬁi if (v == null) return 0;
int hours = ..,;

’}5%%? if (hours < 24)

withinOneDay=true;

int factorial() {

ﬁng—%? i;‘.(n <21){

o AR LA IR 24 P
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Approach Correct | Incorrect | Precision Recall
ACS 18 5 78.3% 8.0%
jGenProg 5 22 18.5% 2.2%
Nopol 5 30 14.3% 2.2%
xPAR 3 4 -4 1.3%*
HistoricalFix! | 10(16)3 4 -4 4.5%(7.1%)%>3
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